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2019
ECONOMICS

( Major )
Paper : 5.2
Full Marks : 60

Time : 3 hours

The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

( For Arts )

( Basic Statistics for Economics )

1. Answer the following questions : 1x7=7

o epTRd Sed -

(a) If the mean is 5 and the median is 6,
what is the mode?

T 4% 5 WF T 6 2, 255 [ 2

(b) What does r? signify?

r2-q & = o4 2
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(2)

If A and B are mutually exclusive
events, what will be the value of P(AB)?

AW B %R 32 w1120 P(AB) I TH
& 237

Comment on the following statement :

“Correlation coefficient between x and Yy
turned out to be 1-02”.

o FRRISToR v T@a fm
“XUF y 3 TR QNS TR o' 1-0277.

Define coefficient of variation.

fa53 @5 gz foa |

What is weighted arithmetic mean?

SIS 53 5455 £ 2

If the number of observations and
arithmetic means (AM) of two series are
M, ny and X, X, respectively, then
what will be the AM of the combined

series?
RS e S o P —

IS e nb nzw }Zl’ 22 @, (\:)Eﬂﬁ’zn_‘[
iﬁm@%mwaw%i’a?

( Continued )

2. Answer the following questions :

(3)

TR PR Ted fa

(@)

(b)

(c)

(d)

20A/220

The arithmetic mean (AM) of the values
of a variable X is 25. If each value of X
is increased by 5, what will be the new
AM?

€0l e X q IPHRE WA T4 (AM)
25 =79 | I X 9 40 AR 5 o 9ol fm
7, (o8 Tgd AM 59 2'7 2

Define mathematical expectation of a
random variable.

BT AMfoRF Serpa SRS erema sigear fie |

Prove that the arithmetic mean of two
regression coefficients is greater than
the correlation coefficient.

g9 T @ Yo OWRET QIFI SR N4
STEIFR BT ©IeT T |

The mean deviation (MD) about mean
(X) of a variable X is defined by

X
mp = 2 X=X
n
What will happen to MD when | X - X is
replaced by (X - X)?
3@ TS YT (X) I TR 9Bl vee X 7 7@
faver (MD) &8 >
X-X
MD=——ZI |
n
cafewr | X - X| 9 I (X - X) 31 =, cofe
MD 3T e2qs & 9f6q 7
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3. Answer the following questions (any three) :

5x3=15
O SRR TR i (R coten RofimH)
(@) Compute mode from the following data :
O O 7] IR 1T 3]

Class Interval : 0-10 10-20 20-30 30-40 40-50
I [T

firequency ™ SOWOEE e Fioghs (15 6
SR iE o

(b) Compute the 3rd quartile from the
following distribution :

O IR (OIS A1 67 T S| I

Marks : 0-15 15-30 3045 45-60 60 & above
T
No. of students : 4 9 14 8 5
B T3
(¢) Given
Rty
No. of Accidents No. of Days
7837 faerg 23071

0 46

1 2

2 5

i 25

10
S 5
Total = 200

If .
.tt.le Mmean is 146, calculate the
missing frequencies.

My :
WTW 146 =, (o3 caar R S

( Continued )

4.
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(S)

(d) Prove that Karl Pearson’s correlation
coefficient (r) is independent of the
change of origin and scale.

o1 91 (@ T PR TR aE (1)
{aww*’ia%ﬂqw‘lﬁl
fe) If two coins are tossed, find the

expectation and the variance of the
number of heads.

o1 TE Terwel Bl I 99 RYR - anfeifes
O] S PR TfeTel |

Answer the following questions : 10x3=30

o 2ppTEd Ted fi
{a) Either | =¥
(i) The arithmetic mean and standard

deviation of series of 20 items were
calculated by a boy as 20 and 5
respectively. But while calculating
them, an item 13 was misread
as 30. Find the correct arithmetic
mean and standard deviation. 6

q&7 'R 2001 AR ANES WY HE
Te REE Sl FCEITS o{Ite FNEE 20
W 5, 8 T IR TG 9l
SHER ceae 13 T 3Fw 30 ¥ | wR
SRR E E T TE [{5ee Sfere |

(ii) Write the characteristics of a good
measure of central tendency. 4
e (3 oS T A1 (s RiEeTR
o
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(b)

X
Y

20A/220

(6)

Or / 231

Exglain superiority of standard
dfswation over the other measures of
dispersion. Given below are the yearly
profits of some small companies.
Calculate standard deviation. 3+7=10

SIECEH C TIRNO(E qHF (oo el
TR0 1 Sofe A g @ @A
S | O ] TS fA0e AT 541 |

Profit (in’000 & No. of Companies

e RIS S50
10-20 6
20-30 8
3040 11
40-50 14
50-60 19
60-70 16
70-80 13
80-90 9

90-100 4
Either | 37
Explain

» _ Ppositive  and negative
orrelation with one example each :

ST Bile SRR e e ure
BRI SR e BUSTIESIE

Calculate Karl
coefficient from t
O] wYR RG]
T 1

Pearson’s correlation
he following data :4+6=10

1
ENSI 1805 26 . 30 32 23

ORHIel T8 00 15 o4

{ Continued )

(7))

Or / S=[1

Compute the two regression equations
on the basis of the following
information :

Tere Ayl ©UR HANIES FAT (1 T Sl
4

X Y
Mean 40 45
J4F
Standard Deviation 10 9
TP et -

(c)

20A/220

Correlation coefficient between X and
Y=0-5

Also estimate the values of Y for X =48
using the appropriate regression
equation. 8+2=10
X ¢ Y I AT BIMF =0-5. 7S
T SRR @Y1 TRE PR X =48 7
ReRre Y3 @G I+ Sfere |

Either / ¥

(i) What is meant by independent
events in probability theory? 2

el e ¥og X012 5 3w 2

(i) A problem in statistics is given to
three students A, B and C whose
chances of solving it are ?15’ 1 and %

( Turn Over )




(8) (9)

respectively. If they try indepen- ( For Science )

dently, what is the probability that
AR o Wrident can solve the ( Elementary Econometrics )
%blem? 3 5. Answer the following as directed : 1x7=T7
W RErR @b oay Rfem @@
. oS TRy ot Sl Teq fi

4 B C 3 fr tzz wis free B
AW IR KR 5 e, TG (a) What is meant by parameter?
b 1 -
z'—%wz.ﬂﬁﬁwmmcsﬁrm, oot e 6 T 2

O WS FTHS qEm g SFUE T
B 2’9 (b) In a linear regression line

() EABRE artains e B 6/ y; =a+bx; +u;, what does u; indicate?
balls. 2 balls are drawn at random 9o1 (AR AT @A y; =a+bx; tu;, ©
one by one without replacement. u; 4 & 5pm?

What is the chance a green ball is

drawn Sy 5 (c) What are degrees of freedom?
ch time?

Bl QTS 4 51 o8 o1 6 51 8 I Fogor A1l 7
ng IR 1 s[sefegiom Feacs (d) Define R?.
DG TR e 27 |
ﬁﬁ?ﬁj R = Ll R?3 wgz! fil |

OIS GG EeE 7@ G TR

79 (e) A two-tailed test depends on
Or / 5331 51 72-o[ AArw fe3 I
Define binomial distribution. What .
mial distribution. :

are its main features? Comment o (i) null hypothesis
lt?he Statement e oeEs 8RO

Or & binomial distribution, mean = .

and Va:ir;lllqiledislt? et 3+4+3=10 (ii) alternative hypothesis
ﬁ"ﬁi’%‘ﬂaﬁm frar 1 faem o 39 Ron 4997 9799
aﬁ?”“ﬁ%? 1 faew Toq WA =7
¥ R =11 — SRR &oH© T
firam | 20A/220 { Turn Over )
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(9)

( 10 )

(iii) simple hypothesis
T AFEY 80w
(iv) composite hypothesis

WWW\SW

(Choose the correct answer)

(o= Tech! iR Sferaan)

Total sum of square (TSS) = Explained
Sum of square (ESS) +

(Fill in the blank)

(¥t 3% <3 =)

Under Standard AR
Sense OLS
‘Best’?

Uumptions, in what
estimators are said to be the

AR SRR R OLs R4 ‘Best’

6. Answer any four of the following questions :

(11)

() Mention the properties of a good point
estimator.

b1 ‘o fmy e REPRR SEy 90

’
{c) Write two measures of ‘goodness of fit

Wb R Tor s

(d) Distinguish between estimate and
estimator.

frafas s PR o fora |

() What are controlled variables?

JRSfre a1 fafEe veeEr 2

Mention the problems that arisfe due to
4 th violation of assumptions - of
diseturbance term in a linear regression

model.

SAREe RS IS e AR
%ﬁgﬁﬁwmi’am,w

40|

hree of the following questions :

7. Answer any t < J.

o R g Fofbt 2R s fi |
(a) What is an estimator? Distinguish
a

i : al
2x4=8 int estimator and interv
between pol 144=5
W ﬁ @W Bﬁﬁl ﬁ.:ﬁ' w W : estimator' ﬁ
. {55 we wEaE e
(@) i;l 2 Poisson distribution, Mean = fefee o7 R M
arance = g, Give your comment. ofiefqT fai |
h TR T, G = PRI = 8. (oA
e ﬁ{" l 9 ( Turn Over )
20A/220 0A/220
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(b)  Obtain

(d)

(e)

20A/220

(12 )

binomiga] distribution.

DiSC‘uS 4

S various e s

. rro c
testmg of hypothesisrs that arise in the

o -
mmm@@ 5ol 41 |

TR AR 7 < |

If 1% of l s
factory the light bulbs produced in a

defective, find out the
at more than 1 bulb is
a random sample of
g Poisson distribution.

ar
Probabijity ¢
M @y

Ao, o CR g 1%
i 3 Gl 30 B aferdq Sree 1907

mmﬁﬁmwmm

the
mean and variance of

(13)

8. Answer the following questions : 10x3=30
oPPTYEd Tes fol
(a) State the Gauss-Markov theorem.

(b)

stical properties of the
ors of a linear
2+8=10

Explain the stati
least square estimat
regression model.

ﬁ’B~W@ﬂWWWIﬂﬁ a3 SRR
g fwes deERd AR

t is the justiﬁcation of inclusion of
turbance term in a linear
2 What are the various
made about the

m in such a model?
4+6=10

rafre el SfEe TyfiRe disturbance “M
BT 7feqeOl B @ wiEe
disturbance T R 4R G SSHREPTR

&9

Wha
the random dis
regression model
assumptions

disturbance ter

is Student’s t-distribution? What

perties? Discuss the major

dent’s t-distribution.
2+4+4=10

Student’s o9 B2 |WR W@lﬁ{i B0
Student’s 3078 T TIEHR ST
<4l |

What
are its pro
applications of Stu

20A/220 ( Turn QOver )
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(14 )

Or / 941

Explain the concepts of sampling
distribution and standard error of a
statistic. Write down the utility of the

concept of standard error. 6+4=10
Afor! 757 W amfie @ R T =4 |
AR @57 qReIB Sercaifarer fors

(c) A die is thrown 60 times with the
following results :

Face ST} 2 3 4 5 6 Total
Frequency i u6 10 8 g LR () 60

Are the data consistent with hypothesis
that the die is unbiased?

[%8.01 =15-00 for 5 d.f. |

B 9%l 60 717 Weeaw TS FiTE T
e ar'e

4 23 4 5 6. P
P e®i0.. 8 18 11 12 60

ORI s &
e Tesfbes wiore 3fer 41 Ames o

[ %3.01 =15-09 3 Fogem @ 5
=)

20A /220
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(15 )

Or / 341

The income distribution of officers of a
certain company was found to follow
normal distribution. The average
income of an officer was ¥ 15,000 with a
standard deviation of ¥ 5,000. If there

‘were 242 officers drawing salary above

¥ 18,500, how many officers were there
in the company?

[The area under standard normal curve
between 0 and 7 is *2580]

GG fffE QAR SRR WE 35
SYRe 369 SR 40 2 | gem SR oo
wE € 15,000 IR g {oem € 5,000.
ofi 242 & ORI 18,500 ©F wfis
awal A, CSETRCA (TR 45 Reqrres
SfFoH SR ?

(e SeRe &9 RS 0 W -7 3 foewe
2580 ]

* kK
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